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8. The school student council is buying hats to give to thei beTs. They compare the cost of buying the hats
from two different companiess. : ﬁ’ //)(f*'m }4{ /f%a/} . m//gj Fy0*# Z‘/f
e Company A charges $11 per hat plus a $50 setup fee. //* , ; 2 14
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e Company B charges $8 per hat plus a $75 setup fee. _54 Ryt 23 fe M”‘/} &[/efj
Which company should the student coun;il buy hats from to get the best price? Justify your choice.
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9. The solution set of a system of inequalities is shown in the coordinate grid. What inequality represents the
upper boundary of the system? 7
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10. Is the point (—1,5) a solution to the inequality2y — 11 < 4x ? Justify your answer. J /( W\
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11. Solve the following system of equations:

2x-4y=8 — 2/~ :/_;73 2?
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